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Note:

1. Attempt any Four of the following

(a)

(b)
(©
(d)
(¢)

2. (a)

Paper / Subject Code: 41603 / Automotive Design

Time: 3 Hours

Question No.1 is compulsory.

Attempt any three questions from remaining.
Use of Design Data Hand Book is permitted.
Assume suitable data if required.

0 B

Explain the method of lubrication provided :
rod?
Explain why piston pin located at or abosie th,
What are the fuctions of oil scraper r1
What are the cooling systems for en,

Design a connecting rod for a high'speed single iésel engine using the. 15
following data
cylinder bore=1 00 mm

Speed=2000 rpm
mass of reciprocating pa: s=1.5kg
maximum gas pregsii; 45 MPa

Factor of safety agai X
Assume suitable ﬁm@q&
More numbe“ ¢ ( piste

locity of gas through port = 50 m/s
%bendmg stress for valve = 50 N/mm?

lesign considerations for centre crankshaft. - 5
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5. (a) A cone clutch with asbestos friction lining transmits 35 KW.

(b)

6. (a)

coefficient is 0.2 and the permissible intensity of pressure )
cone angle a is 12.5° The outer diameter is fixed as 303’
Assuming uniform theory calculate

1. Inner diameter

2. The face width of the friction lining >

3. The force required to engage the clutch .

a reverse speed. Speed ratio of clutch sh‘
the number of teeth in all the gears Wltﬁ
teeth required for any gear to avoid intérfen
ratios. The gearbox should have th&%éﬁ
First gear=4.8
Second gear=3.28
Third gear=2.25
Fourth gear=1
Reverse speed gear=5

A semi-elliptic multi] j

1 1.0f ¢l e e 15
It consists of two e}iﬁ‘a dilen; gth
the master leaf.}cl?hé f,‘ \(\p}@p&%yes is 1.2m. The
Spring is to be/des gn§8 x ’ gp?es are pre-stressed
s0 as to equal‘ 76 sttesses.in NG
05
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